XV OuiMmiaza 3 roJioBoJIoMOK (Bigmosiai)

Typ 1. 3HaUAITh 3aKOHOMIPHICTD

Question (HaBeeHO OJIMH 3 MOKJIUBUX PO3B’AI3KIB)

a.7.
b. 5.
c. 11.
d. 2.
e. A.

f. 62.

g. 42.
h. 21.

i. 6.

4=35-31=19-15=11-7=7 -3

5+2=7,4+2=6,3+2="7

[Tpocrti yncna

28=41-13=48-20=55—-27=6?-34

YHCIIo 7T = 3,141592653

26 =22+ 2x2,38 =26 +2x6,? =38 + 3x8,74 =? + 6X2,102 =74 + 7x4
2*%3 =6, 4¥5 = 20, 67 =7, 8%9 = 72, 10¥11 = 110
2+3=5,3+5=8,5+8=13,8+13=?,13+?=34

76 =19 x4,84=12x7,72=12 x ?

Typ 2. Brainstorm

Puzzle Squares vertices

Always balanced Targets
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